
 
LABOUR LAWS 

Industrial employment (Standing order) 
 

s!f VF{nMlUS ZMHUFZ s:YFIL C]SDMf 1946 GM D]bI C[T] X]\ K[ m 

(A) SFDNFZM DF8[ GMSZLGL XZTM GSSL SZJL (B) SFDNFZM DF8[GF AMG;GF NZ GSSL SZJF  

(C) SFDNFZMGF ,3]TD J[TG GSSL SZJF   (D) V[S 56 GCL 

(1) What are the main object of Industrial employment (Standing order) 1946 ? 

(A) Condition of employment of workers in industrial employment     

(B) decides the worker's bonus rate 

(C) decides the minimum wages rate 

(D) None of these 

sZf VBAFZL ;\:YFVM VF{nMlUS ZMHUFZ s:YFIL C]SDMf ,FU] 50[ m 

(A) CF    (B) GF   (C) SIFZ[S   (D) XZTL 

(2) Industrial Employment (Standing Order) apply to press industries ? 

(A) Yes  (B) No    (C) Sometimes yes (D) Conditional 

s#f VF{nMlUS ZMHUFZ s:YFIL C]SDMf GM SFINM SIFZ[ ,FU] 50[ m 

(A) 1946  (B) 1947   (C) 1948   (D) 1949  

(3) When Industrial Employment (Standing Order) is came in to effect ? 

(A) 1946  (B) 1947   (C) 1948   (D) 1949 

s$f TDFD BFGUL ;\:YFG[ VF{nMlUS ZMHUFZ s:YFIL C]SDMf 1946 ,FU] 50[ K[ m 

(A) CF    (B) GF   (C) SIFZ[S   (D) VNF,TGL D\H]ZLYL 

(4) Industrial Employment (Standing Order) is applicable to all private industries ? 

(A) Yes     (B) No     

(C) Sometimes yes    (D) With permission of court  

s5f SM. SFDNFZG[ GMSZLDF\ ZFBTF 5C[,F GMSZLGL XZTM GSSL SZJFGL PPPPP 

(A) DFl,SGL OZHM K[ (B) SFDNFZGL OZHM K[ (C) lGZL1FSGL OZHM K[  (D) ZlH:8=FZGL OZHM K[ 

(5) Before deciding recruiting employee deciding conditions requirement service is  

(A) Dutyof Employers    (B) Duty of worker 

(C) Duty of Inspector     (D) Duty of registrar  
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s&f :YFIL C]SDM V[8,[ X]\ m 

(A) GMSZLGL XZTM GSSL SZTL XZTM  (B) SFDNFZGF :JF:yIGL XZTM GSSL SZTL XZTM  

(C) SFDNFZGL ;]Z1FFGL XZTM GSSL SZTL XZTM (D) SFDNFZ S<IF6GL XZTM GSSL SZTL XZTM 

(6) What is Standing Order ? 

(A) Condition which decide employment condition 

(B) Condition which decide of a health of worker 

(C) Condition which decide of a safety of worker 

(D) Condition which decide of a welfare of a worker 

s*f :YFIL C]SDMG[ 5|DF6LT SM6 SZ[ m 

(A) 5|DFl6T SZGFZ VlWSFZL    (B) 5M,L; VlWSFZL 

(C) JCLJ8L VlWSFZL     (D) S,[S8Z 

(7) Who is certify of standing order ?  

(A) Certifying officer    (B) Police Officer 

(C) Administrative Officer    (D) Collector 

s(f :YFIL C]SDM S[J] A/ WZFJ[ K[ m 

(A) SFINFSLI A/ (B) G{lTS A/  (C) ZFHSLI A/   (D) VF{nMlUS A/ 

(8) Which type of force hold the standing order ? 

(A) Legal force  (B) Moral force  (C) Political force  (D) Industrial force 

s)f 5|DF6LT :YF. C]SDMGL GS,M D[/JJF SM6 CÞNFZ K[ m 

(A) DF,LS4 SFDNFZ VG[ ;\3    (B) DF+ DFl,S 

(C) DF+ SFDNFZ     (D) DF+ SFDNFZ ;\3 

(9) Who is authorized to get certify copy of  Standing Order ? 

(A) Employer, Employee and trade union 

(B) Only employer 

(C) Only worker  

(D) Only trade union 

s!_f VF{nMlUS ZMHUFZ C]SDMGM WFZM S[8,F SFDNFZ CMI T[ ;\:YFG[ ,FU] 50[ K[ m 

(A) 100 S[ T[YL JW] (B) 150 S[ T[YL JW] (C) 200 S[ T[YL JW] (D) 250 S[ T[YL JW] 

(10) How many member are required for applicable standing order ? 

(A) 100 or more  (B) 150 or more (C) 200 or more (D) 250 or more 
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s!!f :YFIL C]SDM GSSL YIF AFN O[ZOFZ Y. XS[ m 

(A) CF    (B) GF   (C) SIFZ[S CF   (D) SIFZ[S GF 

(11) After Confirming Standing order, can it modified ? 

(A) Yes   (B) No    (C) Some times yes (D) some times no 

s!Zf GSSL YI[,F :YFIL C]SDM ;FD[ V5L, Y. XS[ m 

(A) CF    (B) GF   (C) V\XTo CF    (D) V\XTo GF 

(12) Can appeal be filed against standing order ? 

(A) Yes  (B) No    (C) Partly yes  (D) Partly no 

s!#f 5|DFl6T SZGFZ VlWSFZL VG[ V[5[,[8 VMYMZL8L lNJFGL VNF,TGL TDFD ;TFVM CMI K[ m 

(A) CF    (B) GF   (C) SIFZ[S CF   (D) SIFZ[S GF 

(13) Certifying officer and appellate authority has power of like a civil court ? 

(A) Yes   (B) No    (C) Some times yes (D) some times no 

s!$f X]\ SFDR,Fp :YFIL C]SDM ,FU] 5F0JFGL HMUJF. K[ m 

(A) CF    (B) GF   (C) SIFZ[S CF   (D) SIFZ[S GF 

(14) Can applicable to temporary standing order ? 

(A) Yes   (B) No    (C) Some times yes (D) some times no 

s!5f :YFIL C]SDM SMGL JrR[GF SZFZMG[ ,FU] 50[ K[ m 

(A) DFl,S VG[ SFDNFZ   (B) SFDNFZ VG[ SFDNFZ ;\3 

(C) DFl,S VG[ DFl,SM     (D) V[S 56 GCL 

(15) In between whom contract apply Standing Order ? 

(A) Employer and Employee  (B) Employee and Trade Union 

(C) Employer and Employers   (D) None of this 

s!&f :YFIL C]SDM 5|DFl6T YIF S[ ;]WFIF" TFZLBYL S[8,F ;DI ;]WL O[ZOFZ Y. XS[ GCL m 

(A) 6 DF;   (B) 5 DF;  (C) 4 DF;   (D) 3 DF; 

(16) Duration and modify cannot be change certify of standing order ?  

(A) 6 months  (B) 5 months   (C) 4 months   (D) 3 months 

s!*f VF{nMlUS ;\:YFV[ 5|DFl6T SZGFZ VlWSFZLG[ :YFIL C]SDGM 0=FO8 S[8,F ;DIDF\ ;M\5JFGM CMI K[ m 

(A) 6 DF;   (B) 5 DF;  (C) 4 DF;   (D) 3 DF; 

(17) In what time period the Industrial unit have to send the draft of certifying officer to deliver the 

draft ? 

(A) 6 months  (B) 5 months   (C) 4 months   (D) 3 months 
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s!(f :YFIL C]SDMGM 0=FO8 5|DFl6T SZGFZ VlWSFZLG[ S[8,L GS,DF\ VF5JM HM.V[ m 

(A) 5    (B) 3   (C) 4     (D) 6  

(18) How copy of a draft of Standing Order have to submit before the certifying officer ? 

(A) 5    (B) 3   (C) 4     (D) 6 

s!)f VlWS'T :YFIL C]SDMGL GS,M DMS,JFDF\ VFjIF AFN S[8,F ;DIDF\ VD,DF\ VFJX[ m 

(A) 30 lNJ;   (B) 15 lNJ;  (C) 60 lNJ;   (D) 80 lNJ; 

(19) When standing order certify by the certify officer come into operation ? 

(A) 30 Days   (B) 15 Days  (C) 60 Days  (D) 80 Days 

sZ_f 5|DFl6T VlWSFZLGF C]SDYL GFZFH YI[,L jIlST S[8,F ;DIDF\ V5L, SZL XS[ m 

(A) 30 lNJ;   (B) 15 lNJ;  (C) 45 lNJ;   (D) 90 lNJ; 

(20) Satisfy person appeal against the order of the certify officer ? 

(A) 30 Days   (B) 15 Days  (C) 45 Days  (D) 90 Days 

sZ!f :YFIL C]SDM ;A\WLT U]GFVM DF8[ OZLIFN NFB, SZJF DF8[GL HMUJF. SZJF DF8[ SMGL 5ZJFGUL H~ZL   K[ m 

(A) plRT ;ZSFZ (B) lGZL1FS  (C) DH]Z VNF,T (D) 5|DF6LT SZGFZ VMOL;Z 

(21) Whose permission is needed for the complaint of offences relating to the standing order ? 

(A) Appropriate Government   (B) Inspector 

(C) Labour Court     (D) Certifying Officer 

sZZf :YFIL C]SDMGF 0=FO8DF\YL D]lST VF5JFGL ;TF SMG[ K[ m 

(A) S[gN= ;ZSFZ (B) ZFHI ;ZSFZ (C) DH]Z VNF,T (D) .g:5[S8Z 

(22) Who have the authority to give relief to the industrial unit from the draft to standing order ? 

(A) Central Government     (B) State Government 

(C) Labour Court     (D) Inspector 

sZ#f 5|DFl6T C]SDMGL IMuITF 50SFZL XS[ m 

(A) SFDNFZ    (B) SAH[NFZ  (C) GLZL1FS   (D) DH]Z VNF,T 

(23) Who can challenge validity of the standing order ? 

(A) Worker   (B) Occupier   (C) Inspector    (D) Labour Court 

sZ$f VF{nMlUS ZMHUFZ WFZM V[8,[ PPPPP 

(A) :YFIL C]SDM  (B) SFDR,Fp C]SDM  (C) lGZL1FSGF C]SDM  (D) VNF,TGF C]SDM 

(24) Industrial Employment means ….. 

(A) Standing Order  (B) Temporary Order (C) Inspector's Order  (D) Court's Order 
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